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N & o & AF & H Al A
20148 E = 1 8 s M
SN BMDSE BAsSD
Hu: MSSHRSY
Sol: WMSSI CER-ED
SA-ZH () - HRAY - BES Off &4 JEH Hns2Z
HYDSA BusSH 1,727,814 1,559,026 168,788
2 334,380 252,880 81,500
< 67,000 67,000 0
Al 1,326,434 1,239,146 87,288
FuSELY 838,368 834,868 3,500
=2 210,000 210,000 0
= 47,000 47,000 0
Al 581,368 577,868 3,500
By SRR 416,571 413,071 3,500
(BX)ZMDS2Y 227,896 224,396 3,500
405 THAHE S b 3,500 0 3,500
01 HMYSESH S 3,500 0 3,500
otz 2 =E 3,500,000 * 17} 3,500 0 3,500
HMS SRS 459,743 289,743 170,000
= 124,380 42,880 81,500
= 20,000 20,000 0
Al 315,363 226,863 83,500
WM ETATY 459,743 289,743 170,000
=2 124,380 42,880 81,500
= 20,000 20,000 0
Al 315,363 226,863 83,500
(M) BMSSTAISASN AL 100,000 0 100,000
2 50,000 0 50,000
Al 50,000 0 50,000
201 L2yl 4,000 0 4,000
01 Ak 2teltl 4,000 0 4,000
ONEE TASHE TINY =W SBZ
20,0002 * 4,000 0 4,000
301 LprE A 840 0 840
09 BAFAIHI R & 2 840 0 840
OREE I2AIY AKX 25|
7,0008 * 3088 + 43l 840 0 840
307 QI2+0| ™ 95, 160 0 95,160
2 50,000 0 50,000
Al 45,160 0 45,160
02 RIABABEZ 95, 160 0 95,160
ORNBE TASHs ZRANY 253
9,516,000 * 1021 95, 160 0 95,160
2 50,000 0 50,000
Al 45,160 0 45,160
H=stsMESY 50,000 0 50,000
2 31,500 0 31,500
Al 18,500 0 18,500
101 1218 20,800 0 20,800
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N = 0l & At & Ml A

201485 =Y 13 s FA
SN WYDS FFANYSAHD
Hu: ZTCAHB 2Y
©el: HACHBERY CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
HYDSE FFANYSHDT 4,176,435 4,108,588 67,847
2 542,900 542,900 0
= 340,500 340,500 0
< 123,750 123,750 0
Al 3,169,285 3,101,438 67,847
IZEHP 2 3,197,422 3,116,777 80,645
2 542,900 542,900 0
o 340,500 340,500 0
< 123,750 123,750 0
Al 2,190,272 2,109,627 80,645
HACHBS Y 196,986 195,486 1,500
o 75,000 75,000 0
Al 121,986 120,486 1,500
(BF)NEgzaey 51,009 49,509 1,500
405 THaHE St 11,000 9,500 1,500
01 T 2B S 11,000 9,500 1,500
OOS 4l 35281 AJtRY  750,0008 * 24 1,500 0 1,500
NEEAZ 29 2,550, 144 2,492,015 58, 129
2 542,900 542,900 0
o 140,500 140,500 0
< 123,750 123,750 0
Al 1,742,994 1,684,865 58, 129
(BF)NEgzaey 122,661 121,461 1,200
201 Lyt HH| 10,420 9,220 1,200
01 Ak 22l bl 10,420 9,220 1,200
OSN3 27 12,0002 * 2005 2,400 1,200 1,200
(BZ)-ZBEAZ Qo 23 53,810 34,310 19,500
405 TH&HE St 32,500 13,000 19,500
01 AU 2B St 32,500 13,000 19,500
ONBEZNZ B2XN24 AEEH B
1,300,008 * 25CH 32,500 3,000 19,500
(BF)R2C N2 84 208,376 174,376 34,000
405 THAHH St 124,300 90,300 34,000
02 ©A Ryl 39,000 5,000 34,000
OZHES HEEH MX 2T THRY
5,000, 0002 5,000 0 5,000
OMNEE UBGPASR RSCHB AT
b 5,000, 0002 5,000 0 5,000
OIS WEBAYYA N2EHB AP
3,000, 0002 3,000 0 3,000
ORFS HUVEIY 2SN TAHRYY
3,000, 0002 3,000 0 3,000
O2FE LLLRIMOIE HSTHY AT
2| 3,000, 0002 3,000 0 3,000
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L= B
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> 0y 0"
I 0p 0%
okl
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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
O2FE SELRA0IE NecH2 AT
2| 3,000, 0002 3,000 0 3,000
OQHE SHILUOIE H2THR AT
2| 3,000, 0002 3,000 0 3,000
ORFE OIUOIME HSTHB TAHRYY]
3,000, 0002 3,000 0 3,000
OQHE SYSI0EONIE H2THB AT
2| 3,000, 0002 3,000 0 3,000
ORFS AYDS MN2THB THPYH|
3,000, 0002 3,000 0 3,000
Hamecha Haa2gols 3,429 0 3,429
101 Q1248 3,429 0 3,429
04JIAH22RSES 3,429 0 3,429
ONEA 2YUAA(RHEY) 2,982,0002 2,982 0 2,982
OSHEE JIBSLZ(LAHY) 447,008 447 0 447
SPCHE 29 98,256 77,240 21,016
WEREEEEICVEERD 21,016 0 21,016
101 21248 21,016 0 21,016
04 JAHBERSES 21,016 0 21,016
oNzFe L =L NEA 2PIA(LHHY)
9,779,000 9,779 0 9,779
oxzFe U FL NEA Y
9,000,000 9,000 0 9,000
ORAESHRELD(RHHY) 2,237,000% 2,237 0 2,237
HH2AAU (BUDSY FFAYTHD) 897,862 910,660 ~12,798
o= 897,862 910,660 ~12,798
EESBIEET 120,677 133,475 ~12,798
201 et A H| 85,157 90,035 £4,878
01 At 22l bl 37,724 42,602 £4,878
Ol=YR LB SHY) 11,366,0002 11,366 13,220 A 1,854
o3l JIEF 2,528,000% 12,508 15,552 ~3,024
202 01t 31,320 38,880 A7,560
01 =LK ol bl 31,320 38,880 A7,560
©Jl=ge4d JI= 0| 31,320, 0002 31,320 38,880 A7,560
203 Y2 =T 4,200 4,560 360
04 EASYLREA| 4,200 4,560 2360
0300 ZnE 0%l 0 360 A360
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N & 0l & AF & & A A
2014HE = 1 8 sl HA
SN BUDSE FFAYSENB
M BBENHB 2Y
Sel: sHEARRY (29l & 2)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
BUDSH FFAYLEEHB 2,260,321 2,183,690 76,631
2 84,300 84,300 0
= 300,000 300,000 0
= 128,250 28,250 0
Al 1,747,771 1,671,140 76,631
TZ=HB 2Y 1,863,058 1,788,941 74,117
2 84,300 84,300 0
= 295,000 295,000 0
= 98,250 98,250 0
Al 1,385,508 1,311,391 74,117
VRS 441,802 435,302 6.500
= 75,000 75,000 0
Al 366,802 360,302 6,500
(FF)Npgzasy 67.459 60,959 6,500
405 K&t 3 S b 16,000 9,500 6.500
01 MU SEHSH 16,000 9,500 6,500
OZEH 1,300,0002 * 5CH 6,500 0 6.500
UEEBEHBSY 313,330 311,830 1,500
= 20,000 20,000 0
= 40,800 40,800 0
Al 252,530 251,030 1,500
(BF)NEges 29 24,201 22,701 1,500
206 TH2 bl 3.320 1,820 1,500
01 Mt 3.320 1,820 1,500
OUEI}E 1,502 * 1,000%H 1,500 0 1,500
HEEHES 340,436 336,534 3,902
= 200,000 200,000 0
Al 140,436 136,534 3,902
(BF)Negzasy 53,201 49,299 3,902
101 1218l 37.361 33,459 3,902
R ENEEV =P 37.361 33,459 3,902
ONEFE L FL VB AHSY
42,790 * 1% = 262 * 3 3,338 0 3,338
o4h MElREE 564 0 564
SEE=EEEE 3,338,000 * 4.5% 151 0 151
OAUBH2RLZ 3,338,008 * 2.945% 99 0 99
OFIeYBHERYS
3,338,000& * 6.55% 219 0 219
Ons=g2ee3 3,338,000 * 1.5% 51 0 51
OMATHEHZEE 3,338,008 * 1.3% 44 0 44
NEREEZAZ 2¢ 767,490 705,275 62,215
2 84,300 84,300 0
= 57,450 57,450 0
Al 625,740 563,525 62,215
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o nE
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02

ENUREEHB
o
o

SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
He) Ao 2 29 X2 93,950 26,250 67,700
405 KHAHE SH 67,700 0 67,700
02 =N 67,700 0 67,700
ONZEE II2L0IS0HIME 2T M2 TN
oy 5,000,000& 5,000 0 5,000
OIS 2T AHZ TAHTRYH 5,000,000 5,000 0 5,000
OZ2UsS XNLAEODE 22 TP
Hl 10,000,000 10,000 0 10,000
OMLsE M2 2T M2t TR
5,000,000 5,000 0 5,000
OMtY S ENH H2T M2 TAFYUH
5,000,000 5,000 0 5,000
O/MNLEE HERHYLOIE 2T HZ TN
S| 5,000,000 5,000 0 5,000
oMY S RYOIIE 25HH H2TH2 ©SHF7
S| 5,000,000 5,000 0 5,000
OMYsE Z2XQ0HHE 2T N2 THPY
Hl 5,000,000 5,000 0 5,000
OMt"d S 2GOIIE 2T A2 T AT
5,000,000 5,000 0 5,000
OMNEE SLEUHEOIIE 2T TN
oy 4,700,0002! 4,700 0 4,700
OME S WZEIL2XIO0ITIIE 22 =N
2] 5,000,000 5,000 0 5,000
O S SHHIMEY 2T A2 S AT
5,000,000 5,000 0 5,000
O2FHS NGOT A2 28 TNFPLH|
3,000,000 3,000 0 3,000
HA)SATH2 22y 50,423 50,023 400
405 KtHAHE S 22,000 21,600 400
01 IHAtY 2 E FH SH 400 0 400
CES=P] 80,0002 * 5CH 400 0 400
HA)QET N2 222y 151,775 150,215 1,560
201 LBt A H| 48,215 46,655 1,560
01 AR 22| | 44,725 43,165 1,560
OFIAE I=H| 120,000 » 7% * 23 1,680 120 1,560
HXz A oH2d 202,042 217,487 A 15,445
101 @124l 202,042 217,487 A 15,445
04 JI2ZR22IEEB S 202,042 217,487 A15,445
oxtz A 2Nl 169,260 182,021 A12,761
OSHCHZ ANMNEZA(RMHA)
46,516,000 46,516 56,295 A9,779
OU2ZST M MNEEZA(SMHY)
10, 154,000 10,154 13,136 A2,082




SN BUDSY HFAYLSCH
M BN 2Y
Sl NYRBEHY 29 (er:@e)
SN HH - (EH) - HRAY - BES 0] &b 2 p/E-T Hl DS 2
ONNEXH sHE28 Jla=ea 15,582 18,266 ~2,684
SENEEIEVEED 5,423,000%! 5,423 8.107 ~2,684
oL 180.144,0002 * 2.945% 5,306 5,306 0
SEPI-EEE 5.306,0009! * 6.55% 348 348 0
O1NEEE 180, 144,000& = 1.5% 2,703 2,703 0
OUTHEH 180.144,0002 * 1% 1,802 1,802 0
(B2)SEA SHH B2 A2 I 24,000 16,000 8,000
401 N EHIL 2 THYI 24,000 16,000 8,000
01 Al 24,000 16,000 8,000
OZA QLT & 8,000,000 * 14! 8,000 0 8,000
HH2YHH (BYUDSY FFAYLEEAB) 47,892 45,749 2,143
e 47,892 45,749 2,143
(F2)J=2H 47,892 45,749 2,143
201 et | 24,281 19,932 4,349
01 AFR 22l H] 23,821 19,932 3.889
0J2YR +HES A 8,200, 0002 8,200 6.702 1,498
CEET 6.681,0002 6.681 4,290 2,301
02 2B 460 0 460
CERT-E! 460 0 460
Ot 2708 * 2005 * 5% 270 0 270
OEp] 1,908 * 208 * 52 190 0 190
202 04t 19,116 21,322 ~2,206
01 =LK ol 19,116 21,322 £2,206
©J12YR =0 13,346,000% 13,346 15,552 £2,206
HeES(BMDSH FFANLLEEND) 371 0 371
SEXE 371 0 371
orEH 3 Ol 371 0 371
802 v+ & 2| Et 371 0 371
02 Al - SHIRESPES 371 0 371
020138 H2THZ THTLY 90,0002 9 0 90
OORII% BHGHE BAZESS 280, 7602 281 0 281




